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I. Multiple Choice Question 10 x 1 = 10

Transpose of a column matrix is

(a) unit matrix (b) diagonal matrix (c) column matrix (d) row matrix

For the given matrix A =   the order of the matrix A  is

(a) 2 x 3 (b) 3 x 2 (c) 3 x 4 (d) 4 x 3
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If A is a 2 x 3 matrix and B is a 3 x 4 matrix, how many columns does AB have

(a) 3 (b) 4 (c) 2 (d) 5

If number of columns and rows are not equal in a matrix then it is said to be a

(a) diagonal matrix (b) rectangular matrix (c) square matrix (d) identity matrix

Which of the following can be calculated from the given matrices A  =  , B =  ,

(i) A

(ii) B

(iii) AB

(iv) BA

(a) (i) and (ii) only (b) (ii) and (iii) only (c) (ii) and (iv) only (d) all of these
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Find the matrix X if 2X + 

(a) (b) (c) (d) 
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If A =  , B =   and C =  , Which of the following statements are correct?

(i) AB + C =  

(ii) BC = 

(iii) BA + C = 

(iv) (AB)C =   

(a) (i) and (ii) only (b) (ii) and (iii) only (c) (iii) and (iv) only (d) all of these
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If   and   then B = [hint: B = (A+2B)-(2+3B)]

(a) (b) (c) (d) 

2A + 3B = [ ]2
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If  ,then x is ___________

(a) 4 (b) 3 (c) 2 (d) 1

[ ] = [6]4 3 2
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If   and   then A = 16 for ___________

(a) y = 4 (b) y = 5 (c) y = -4 (d) y = 16
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II. 2 Marks 5 x 2 = 10

Find the value of a, b, c, d, from the following matrix equation.

[ ] + [ ] = [ ] + [ ]d
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If A =   then verify (A )  = A
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Find the values of x, y and z from the following equations

[ ] = [ ]
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If A =   prove that AA  = I.[ ]cos θ
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Find the values of x, y and z from the following equations.

[ ] = [ ]x + y
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III. 5 Marks 1 x 5 = 5

(OR)

Solve for x, y : [ ] + 2 [ ] = [ ]x2
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If A =  , B =  , C =   verify that A(B + C) = AB + AC[ ]1
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